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Introduction

Introduction

This pack contains 15 question papers featuring 15 GCSE exam-style questions each. The
questions are aimed at Higher tier students and cover a range of topics.

The calculator symbol next to each question shows students whether they should
should not use a calculator to solve it. If the calculator is crossed through,gtuden t
calculate their answer by hand.

Each question includes space for workings and a suggested mark. You’ll
to each paper at the back of the pack.
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Paper 1

Evaluate
(1.6 x1077) =+ (8.0 x 1073)

Write your answer as an ordinary number correct to 3 significant figures. (2)

There are 375 people in an office block.

195 of them are men. &
% of the men get the t 0 W
% of the wo rain't® work.
Work out how ty le get*the train to work. 3)
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Paper 1

3. The numbers A and B below are written as the product of prime factors.
Find the highest common factors (HCF) of A and B.
A=2%x3%2x7?

B=23x3x5x7 (2)

y \l
4, A laptop has a normal pric% sale the price is reduced by 30%.
h

‘= Work out the sal&khe, t ptop. (3)

,éz
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Paper 1

5. Sanjit buys 5 kg of fruit chews to sell. He pays £10 for the chews. Sanjit puts all
the fruit chews into bags. He puts 250 g of chews into each bag and sells each
bag for 65p. Sanjit sells all the bags of fruit chews.

Work out his profit. (3)

o
6. The cost of 8 litres of oil i 80.
s of0il.

Calculate the cost, of

,éz

(2)
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Paper 1

7. A zoologist measures the lengths of 50 snakes to the nearest centimetre.
The results are shown in the frequency table below.

Length (cm) Frequency

0<L<10 7
10<L<20 12
20<L<30 20
30<L <40 8
40 <L <50 3

Total 50

Work out an estimate of the mean length.

'\&
8. Simplify fully ‘e express:

(3)

24a*w?
3a (2)
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Paper 1

9. Make t the subject of the formula
v =u + 10t (2)

10.  Sophia made a logo of two different shap

Calculate the area of the logo.

15 cm

(3)
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Paper 1

11.  Renee leaves £3000 in the bank for two years. It earns compound interest at 2%
per year.

Calculate the total amount Renee has in the bank at the end of the two years. 3)

O

30°

12. Calculate the distance x

(3)

© www.teachit.co.uk 2021 Page 9 of 152



Paper 1

13.  Joss rolls a biased dice. The table shows the probability for the different scores.

Score 1 2 3 4 5 6
Probability = 0.15 | 0.25 0.2 0.1 0.15

The dice is rolled 200 times.

Estimate the number of times the dice land on a six.

o
14. A concrete slab is in the sh ac d. M
It measures 400 m bye28 mm. D|V
The density of t 50 kg/m?
Calculate the gotal mass 0 slabs. 3)
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Paper 1

15.  Find the value of the angles x and y below, giving reasons for each answer.

150°
85

x° °

(o
F{&‘o
& Total /40
{0
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